Math 1090 ~ Business Algebra
Section 5.2 Simple and Compound Int

Objectives:

+ Differentiate between simple and com
* Solve problems involving simple an

* Understand and calculate annual pe




Simple and Compound Interest
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Ex 1: If $10,000 is invested for four years at an annual rate of 8%,
how much will the account be worth at the end of four years?

a) simple interest F:_s \ Dj oo D b) compounded once a year
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Ex 2: What is an account worth in 8 years if we started with $3000 and we
got continuous compounding at a rate of 6%? P 3
=000
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Ex 3: If $1000 is invested at 5% annual interest rate, compute these. _ §
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Ex 4: What amount must be invested now in order to have
$1,000,000 for retirement in 45 years if money is compounded

uarterly at 9%?
quarterly at t thswg
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APY (Annual Percentage Yield)

Let P=§100 be invested at 8% interest compounded as given in (a)
and (b). What is the account worth after one year?

a) quarterlyn=y t=\ bymonthly 1 < |2
S=P(HA)* poae  S=PO+R)

S= \000‘* Q;\?K)‘im S = LDD (HQ_,‘Piz_)\z(\)
~ #0%. 2y 10§20
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TP;: (1 + L) -1 (periodic compounding)
n

APY =¢" -1 (continuous compounding)

-

Ex 5: Which is a better investment deal?

a) 10% compounded annually Nn=I, v'=0.
AFy (I_,_ _..\"O)—|D7o

= 0.0
b) 9.8% compounded quarterly n= q (= 0. 0‘% est
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¢) 9.65% compounded continuously Y = O D?C,S

APY= e,m’s:\homm 10.13|



